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25. (2 boda)       m1v1 + m2v2 = m1v1' - m2v2'                     1 bod 

               0.6 kg m s-1 = 0.5 v1' – 0.15 kg m s-1 

                           v1' = 1.5 m/s                             1 bod 

      

26. (2 boda)    mv2/2 = kx2/2                  1 bod 

                            v = 17.7 m/s                            1 bod 

 

27. (2 boda)    NkTU
2

 3
                                           1 bod 

          U =  414  J                                       1 bod 

 

28. (2 boda)    Q = I1Δt1 + I2Δt2                         1 bod 

          Q = 0.5 C + 4 C = 4.5 C                      1 bod 

 

29. (2 boda)          E = mv0
2/2                                       1 bod 

          E = 40.5 J                                        1 bod 

 

30. (2 boda)   
2

2

0 1
c

v
l l                                       1 bod 

        c  v
3

8
  = 0.94 c = 2.8 ∙ 108 m/s                 1 bod 

 

31. (4 boda)   Fukupno = Fžičare –  Ftr – mg sin30°                    1 bod 

         Ftr = μmg cos30°                                         1 bod 

        Fukupno  = 0                                                   1 bod     

        Fžičare = 413.9 N                                            1 bod 
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32. (4 boda)   ΔU = Q − اW1                                           ا bod 

           W = p ΔV                                                1 bod 

          ΔV = 4 dm3 = 0.004 m3                            1 bod 

          ΔU = 4000 J                                             1 bod 

 

33. (4 boda)   u kratkom spoju    I = ε/r     1 bod 

          r = 0.8 Ω                                                         1 bod 

           ε = I (R + r)                                        1 bod 

           I = 4.17 A                                                          1 bod 

 

34. (4 boda)   d sinα = kλ                                               1 bod 

            kmax ≤ d/λ                                               1 bod 

         kmax = 6        1 bod 

        broj maksimuma = 2∙ 6 + 1 = 13                1 bod 

 

35. (4 boda)   E = Pt                                                          1 bod 

          E = Δm c2                                                     1 bod 

          Δm = 0.01∙ 2 ∙ 1030 kg = 2 ∙ 1028 kg               1 bod 

          t = Δmc2/P = 4.74 ∙ 1018 s                             1 bod 


